
ANSWER KEY

GENERAL EXAM - 8

1. c) tImd-am-≠¬ Xocw

2. c) Imivao¿

3. b) tPm¨ cmPmhv

4.  c) 35 & 36

5. a) 4

6. d) Hm∏-td-j≥ kotdm Ah¿

7. a) 80(3)

8. b) 1858 Pq¨ 18

9. b) Fw.-F≥. sh¶n-S-sN-√ø

10. c) Hdo 

11. a) 1923

12.  d) B{‘m-{]-tZiv

13. c) kp{]ow-tIm-SXn

14. a) C¿hn≥ {]`p

15. d) \mZn¿jm

16. a) t•m_p-en≥

17. c) ssat°m-πmkva

18. b) ssetkmtkmw

19. c) 13

20. d) Hm¿Kmt\m t¢mssdUv

21. d) {`m¥n-∏-ip-tcmKw

22. b) {Snjnbw

23. c) AK-Ãn≥ { -̂W¬

24. a) A`n-tI-{µ-_ew

25. b) sNm∆

26. c) kmcwKn

27. a) 1975

28. d)k¿_-Xn-skm-tWmd

29. c) 5 cq]

30. c) ]mcokv

31. d) sk]v‰w-_¿ 2

32.  b) djy

33. a) {_“m-\µ inh-tbmKn

34. a) 1895

35. c) IrjvW-dmhp

36. d) Im¿ØnI-]≈n

37. b) ssh°w

38. b) cma-]p-cw-]pg

39. c) 1822

40. c) IÆq¿ ̨  a{Zmkv

41. d) B¿ i¶¿

42. a) {io NnØn-c-Xn-cp-\mƒ _me-cmah¿Ω

43. b) BZn-X-y-Y¿

44. d) 77

45. a) 1982

46. c) P∏m≥

47. c) 2019 BKÃv 6

48. b) Inc¨dn÷p

49. a) C.hn cma-Ir-jvW≥

50. b) tSmWn tamdn-k¨

51. d) symposium

52. c) Disrespectful

53. c) immodest

54. b) enter by force

55. d) crew

56. b) education

57. a) their

58. a) conjunction

59. c) Hypothecation - deed

60. c) mind : psychology

61. b) burrow

62. a) squab

63. c) pressed for time

64. c) She would rather we stayed till tomorrow

                   (would rather - prefer) would rather

Ign™v nounh∂m¬ past form)

65. a) farther (farther - ZqcsØ kqNn-∏n-°p-∂p)

66. b) an   (inkpot  D®-cn-°p-∂Xv vowel sound ¬)

67. d) meenu said that her mother had sung well

(Direct speech se sang indirect speech ¬
had sung BIp-∂p)

68. a) An engine rotates the fan

(passive active voice ¬ B-°m≥ : subject + verb +

object) ChnsS  is rotate - rotates Bbn amdpw

69. a) on     (Congratulate on something)

70. a) d) didn’t she ? (taught = did + teach)

71. b) AtN-X\w

72. c) It]mew

73. a) B[m-cnI

74. d) KXn

75. d) InW-‰n¬ hoW Ip ńsb \m´p-Im¿ c£-s∏-SpØn

76.  b) On∂w

77. d) _nµp

78. c) _Ipfw

79. c) kn.-tKm-hn-µ-]n-jm-cSn

80. c) Jkm-°ns‚ CXn-lmkw



85. d) i\ni\ni\ni\ni\n

       Hcp amkw 5 XhW hcp∂ Znh-k-ßƒ
  29,30,31 Xob-Xn-Ifn¬ Bbn-cn-°pw.

       17 ˛ Rmb¿, 24 ˛ Rmb¿, 31 ˛ Rmb¿
       30 ˛ i\n 29 ˛ sh≈n
       Hm]vj-\n¬ \n∂pw, i\n Fgp-XWw

81. b) 29

     Ip´n-I-fpsS hb-kns‚ XpI = 10 X 7  = 70

             A≤ym-]n-Ibpw IqSn
  tN¿Øm¬ hb- p-I-fpsS XpI = 11 X 9 =99
        A≤-ym]n-I-bpsS  hb v = 99 ˛ 70 = 29

82.  c) PewPewPewPewPew (tdmhnwKv ˛ Xpg-®n¬)

83.  b)40πππππcm3

   hrØ-kvXw-`-Øns‚

              hym]vXw = πr2h

                                                  = πx2x2x10

                                              = 40πcm3

r = 4/2 = 2cm

h = 10 cm

84. d) 8/15

                   AbpsS 1 Znh-ksØ tPmen = 1/15
                B bpsS  1 Znh-ksØ tPmen = 1/20
                               Abpw B bpw 1 Znhkw
                     sNøp∂ tPmen = 1/15 + 1/20
                                        = 4+3 = 7                                           60    60
             4 Znhkw A bpw B bpw
                      sNøp-∂-tPmen = 4 x7/60
                       _m°n-tPmen = 1˛  7 = 15-˛7 = 8                                           15     15   15

86. a) 14 sec

               t = D/S                               d = 210 m

                
 =

 210x18           S = 54km, 54x5/18

                    54 x5

                 = 14 sec

90. b) 1,12,0001,12,0001,12,0001,12,0001,12,000

    1 h¿jsØ Iq´p-]-eni = 100000 x 12
/100 

= 12000

     Xncn-®-S-bvt°≠  XpI = 100000 + 12000 = 112000

88. c) 220

            LCM x HCF = kwJ-y-I-fpsS KpW-\-^ew

                   6xLCM = 1320

                       LCM = 1320
/6

 = 220

89. a) 540

        60% s]¨Ip-´n-Iƒ, 40% B¨Ip-´n-Iƒ

BsI- x 40
/100

 = 360

BsI =
 360x100 

= 900       40

              s]¨Ip-´n-Iƒ = 900 - 360 = 540

91. d) 1/200

            50ss]k    
= 

        50       
=

       50   
 = 

   1

              100cq]          100x100ss]k   10000        200

92. a) 24en‰¿en‰¿en‰¿en‰¿en‰¿

              ]m¬ = 4x ,  sh≈w = 3x

                     4x : 3x + 14 = 3:4

                                16 x = 9x +42

                                   7x = 42

                                     x = 6

                    ]m¬ = 4x6    = 24

93. d) 15

               1,2,3,......................... 9,10,11, 12           (9+6 =15)

94. d) 6175322

        (8 s‚ KpWn-X-amtWm F∂v t\m°m≥ Ah-km-
 \sØ 3 A°-ßƒ tN¿∂p hcp∂ kwJy 8 sIm≠v
 ]q¿Æ-ambn lcn-°m-hp-∂-htbm As√-¶n¬ ]qP-ytam
 Bbn-cn-°-Ww)

95. d) 50m

                 20+30 = 50m

--
--

--
-

30m

30m
20m

30m

96. b) `mcy ktlm-Z-c≥`mcy ktlm-Z-c≥`mcy ktlm-Z-c≥`mcy ktlm-Z-c≥`mcy ktlm-Z-c≥

                       B                  A

                  E+C      D           E

97. b) 25

           13 17 19       23        25

                      +4            +2            +4           +2

( ( ( (

 87. a) 1016                              am x an = am+n

                 108    =    108       
= 108x108

                               10-8          1/
108

                                          = 1016



98.  d)     EUZ

A K J

+1 +1 -1

B L I

+1 +2 -2

C N G

+1 +3 -3

D Q D

+1 +4 -4

E U Z

99. b) 11

              6x2 = 6
/2

 , 2
/2

 = 31

              8x4 = 8
/2

 , 4
/2 

= 42

              2x2 = 2
/2

 , 2
/2

 = 11

100. a) 21

        BsI = (ap-∂n¬ \n∂p≈ ÿm\w +
    ]n∂n¬ \n∂p≈ ÿm\w)˛1

                = (13+9)˛1
                = 22-˛1
                = 21


